Algebra 2
Rational Functions Review

Simplify the following rational expressions.
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Solve the following rational equations. (Don’t forget to check for extraneous answers)
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Graph each of the following and find the information listed below.

x—1
) f®) =55

VA: x 33 N
H.A.: »é 2 O i
Hole: w =1

Domain:(“w,«‘)w(;,s\)u "*ﬂ‘;)w B

Range: (- cﬁ;’fz)wéﬁ, ryecy f}
Solutions:

‘End behavior: g5 x - o iy~ ¢

as v -, fly)~e

V.A: x = =1

H.A.: 3 >\
Hole:y » 2
Domain:(-es, =juf-1,2

yuteio) [T

Range: (-« *’%)U_i ¥
Solutions: ¥ =4 C*-f, o)
End behavior:

£ s 4
l/U\‘|’Vj‘ .g{

AS = @, £k




